www.das-bastelteam.de ->Ldsungen: Teilermenge Blatt Nr.:565
Zahl geht max. bis 100.

T41 — {1,41}

T31 - { 1, 31}
T67 — { 1, 67}
T37 - { l, 37}

Ty = {1,2,11,22}

T = {1,2, 4,19, 38,76}

T, = {1,2}

Too = {1,2,4,5,10,20}

Ts, = {1,2,4,13,26,52}

Too = {1,2,3,5,6,9, 10, 15, 18, 30, 45, 90 }
T, = {1,2,3,4,6,8,9,12, 18, 24,36, 72}
Teg = {1,2,29,58)}

T, = {1,7}

T, = {1,47})

Tey = {1,2,3,6,9,18,27,54}

T, = {1,3,9,27}

Teo = {1,2,3,4,5,6, 10, 12, 15, 20, 30, 60 }
T,y = {1,3,7,21}

Tos = {1,23}

Tas = {1,2,4,8,11, 22, 44,88}

Teg = {1,2,4,7,8,14, 28,56}

Tes = {1,5,13,65}
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